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1. From the day we are born, our bodies changing in response to our environment.
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2. Yesterday | went to a bookstore buying a book about computers.
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3. It's time we to leave now.
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4. According to Jo, his next goal is swim across the Yangzi River in China.
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5. The purpose of Earth Day is for reduction our footprint on our planet.
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t seems that the woman in the picture is smiling.

The woman in the picture seems
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The puzzle is too difficult for an elementary school student to

solve.
= The puzzle is so difficult that an elementary school student

cannot solve.

The school is so rich that it gives its students many kinds of

scholarships.
= The school is enough rich to give its students many kinds of

scholarships.
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9. SAt catchE &80t s 22 gzt

Daphne was very fast, but Apollo was faster. Apollo was
getting closer and closer to Daphne. She did not want
(A) . So she asked her father, Peneus, for help.

”

“Father! Help me!” she cried. “Don’t let Apollo (B) me!

That moment, right before Apollo could catch her, Daphne’s

body began to change into a tree. To stop her from
(C) , Peneus had turned his daughter into a laurel
tree.
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I've always been shy. I've become accustomed to being called “the quiet one.” My mom tells stories
of me hide my face away whenever we had company when | was just a toddler. As | grew, so did my
anxiety. | transformed into a more receptive, sensitive young man. These were optimum conditions for
anxiety to grow, like warmth and dampness to bacteria. With my quiet nature, | felt increasingly
isolated from people. | felt like a child in a group of adults. Consumed by my anxieties, | would think
people were judging me by the words “quiet,” “not funny,” or worst of all “boring.”
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9. (A) to be caught (B) catch (C) being caught
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